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COMBINED RESEARCH ASSISTANT IN VARIOUS SUBORDINATE SERVICES IN 
TAMIL NADU TOWN AND COUNTRY PLANNING AND GENERAL SUBORDINATE 

SERVICE – 09/09/2023 
 

1. Assertion (A) :  Palai is one of the habitable regions. 
Reason (R)  : The people of Palai domesticated animals. 

 a. (A) and (R) are true    
b. (A) is true, but (R)is false 

 c. (A) is false, but (R)is true   
d. Both (A) and (R) are true but (R)is not the correct explanation of (A) 
e. Answer not known 
$w;W (A)   :   ghiy epykhdJ FbapUf;fj;jf;f epyg;gug;G MFk;. 
fhuzk; (R):   ghiy epyj;J kf;fs; tpyq;Ffis tsh;j;jdh;. 
a. (A) kw;Wk;  (R) rhp 
b. (A) rhp Mdhy; (R) jtW   
c. (A) jtW Mdhy;  (R) rhp 
d. (A) kw;Wk;  (R) rhp. Mdhy; (R) , (A)- tpw;fhd rhpahd tpsf;fk; my;y.  

 e. tpil njhpatpy;iy 
 

2. Which statements are correct as far as Justice Party was is concerned? 
(i) It sought to do away with corruption in religious endowments. 
(ii) Primary education was extended to depressed classes through fee concession. 
(iii) Provided credit to small industries. 
(iv) Claimed reservation for Muslims. 
a. (i) and (iii) are correct   b. (iii) and (iv) are correct 
c. (i) and (ii) are correct   d. (iv) only correct 
e. Answer not known 
ePjpf;fl;rpiag; nghUj;jkl;by; ve;jf; $w;nwy;yhk; rhpahdit? 
(i) ePjpf;fl;rp rkaq;fSf;fhd khdpaq;fspy; eilngwf; $ba Coiy Kbtpw;F 
nfhz;Ltu Kw;gl;lJ. 
(ii) gpd;jq;fpa tFg;gpdUf;F fl;lz rYifapy; njhlf;ff; fy;tpia ePl;bj;jJ. 
(iii) rpW njhopy;fSf;F fld; toq;fpaJ. 
(iv) K];yPk;fSf;fhd jdp xJf;fPl;il NfhhpaJ.  
a. (i) kw;Wk; (iii) rhp  b. (iii) kw;Wk; (iv) rhp  c. (i) kw;Wk; (ii) rhp   
d. (iv) kl;Lk; rhp  e. tpil njhpatpy;iy 
 

3. ‘Nil Darpan’, a play portrayed Indigo planters oppression, was written by 
a. Dinbandhu Mitra  b. Debi Singh   c. Dadabhai Naoroji 
d. Diodorus    e. Answer not known 
“epy; jh;ghd;” vd;w ,d;bNfh Njhl;lf;fhuh;fspd; vjph;g;ig rpj;jhpf;Fk; E}iy vOjpath; 
a. jPd;ge;j; kpj;uh   b. jPgp rpq;  c. jhjhgha; nesNuh[p 
   
d. bNahNlhu];   e. tpil njhpatpy;iy 
 

4. Who appreciated Thirukkural as follows:- “Anuvai Thulaitthu Ezhkadal pugatti 
kurugga tharitha kural“? 
a. Kalladar    b. Avvaiyaar   c. Thitumoolar 
d. Manakkudavar   e. Answer not known 
“mZitj; Jisj;J Vo; fliyg; Gfl;bf; FWfj; jwpj;j Fws;” vd;W ghbath; ahh;? 
a. fy;yhlh;    b. xsitahh;   c. jpU%yh; 



 

2 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

d. kzf;Flth;   e. tpil njhpatpy;iy 
 

5. Identify the wrong statement about “Aaazhavaargal” from the options given.  
a. ‘Painthamizh Pinchendra Pachchai Pasunkondale’.  In this line,   Kumarakurubarar 
Praises Thirumazhisai Aazhvaar. 
b. Nammazhvaar is called Sadagobar for he won over “Vayu” alais ‘sadam’ 
c. Kulasegarazhvaar has written the poem ‘Kanninun sirudhambu’ on Nammazhvaar. 
d. Periyazhvaar is also called ‘Pattabiraan’. 
e. Answer not known 
fPo;f;fhZk; $w;Wfspy; Mo;thh;fs; gw;wpa nra;jpfspy; xU nra;jp jtwhff; 
Fwpg;gplg;gl;Ls;sij vOJf. 
a.  FkuFUguh; jdJ ghlypy; “ige;jkpo;g; gpd;nrd;w gr;irg; gRq;nfhz;lNy” vd;W 
jpUkopir Mo;thiug; Gfo;fpwhh;. 
b. ek;kho;thh; rlk; vd;Dk; thAit rpde;J mlf;fpaikahy; rlNfhgh; vd 
miof;fg;gLfpwhh;. 
c.  FyNrfuho;thh; ek;kho;thh; Nky; fz;zpEz;rpWjhk;G vd;Dk; ghliyg; ghbAs;shh;. 
d. nghpaho;thh; gl;lh;gpuhd; vd miof;fg;gLfpwhh;. 
e. tpil njhpatpy;iy 
 

6. Fill in the blanks: 
Viththum Italventum kollo __________ 
a. Virundhombi Michchil Misaivaan Pulam 
b. Matraiyaan Sethaarul Vaikka Padum 
c. Thakkarkku Vellanmai Seithar Poruttu 
d. Sakkadum, Viththagarkku Kallal Aridhu 
e. Answer not known 
Nfhbl;l ,lj;ij epug;Gf: 
tpj;Jk; ,ly;Ntz;Lk; nfhy;Nyh ___________ 
a. tpUe;Njhk;gp kpr;rpy; kpirthd; Gyk;  b. kw;iwahd; nrj;jhUs; itf;fg;gLk;. 
c. jf;fhh;f;F Ntshz;ik nra;jw; nghUl;L d. rhf;fhLOk; tpj;jfh;f; fy;yhy; mhpJ 
e. tpil njhpatpy;iy 
 

7. The Government of Tamil Nadu is committed in empowering the differently – abled 
persons for the reservation is employment by _____%. 
a. 1   b.2  c.3  d. 4  e. Answer not known 
khw;Wj; jpwdhspfSf;fhd Ntiytha;g;G xJf;fPl;by; jkpof muR ______ rutPjk; 
mspj;J cWjp nra;Js;sJ. 
a. 1   b.2  c.3  d. 4  e. tpil njhpatpy;iy 
 

8. Reason and Assertion type. 
Assertion (A) :  Velu Nachiyar is called India’s ‘ Joan of Arc’ 

 Reason (R) : She was a great warrior who fought against British 
 a. (A) is true, but (R) is false 
 b. Both (A) and (R)are true and (R) is the correct explanation of (A)   
 c. (A) is false (R)is true 
 d. Both (A) and (R)are true but (R) is not the correct explanation of (A) 
 e. Answer not known 

typAWj;jy; (A) : NtYehr;rpahh; ,e;jpahtpd; ‘N[hd; Mg; Mh;f;” vd;wiof;fg;gLfpwhh;. 

fhuzk; (R)    : mth; kpfr; rpwe;j tPukpf;ftuhf Mq;fpy muRf;F vjpuhf Nghhpl;lhh;. 
a. (A) vd;gJ cz;ik. Mdhy; (R) vd;gJ jtW   
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b. (A) kw;Wk; (R) ,it ,uz;Lk; cz;ik kw;Wk; (R) vd;gJ (A) tpw;fhd rhpahd 
tpsf;fk; 
c. (A) vd;gJ jtW. (R) vd;gJ cz;ik    
d. (A) kw;Wk; (R) ,it ,uz;Lk; cz;ik. Mdhy; (R) vd;gJ(A) tpw;fhd rhpahd 
tpsf;fk; my;y. 
e. tpil njhpatpy;iy 

 
9. Who wrote the literature piece titled “Thirukkural Neethi Ilakkiyam” which has also 

won the Sahithya Academy Award? 
a. Ka.tha.Thirunavukkarasu   b. V.C. Kulandaisamy 
c. K.A.Neelakanda Sasthri    d. A.Sa. Gnanasambandan 
e. Answer not known 
‘jpUf;Fws; ePjp ,yf;fpak;’ vDk; rhfpj;a mfhlkp ghpR ngw;w E}ypd; Mrphpah; 
a. f.j.jpUehTf;fuR  b. th.nr.Foe;ijrhkp  c. Nf.V.ePyfz;lrh];jphp  
d. m.r.Qhdrk;ge;jd;  e. tpil njhpatpy;iy 
 

10. Assertion and Reasoning questions 
Assertion (A) : Women’s liberation was one of the important objectives of the Self 

– Respect Movement. 
Reason (R)  : The Movement Provided a space for women to share  their ideas 
a. Both (A) and (R)are wrong 
b. (A) is correct but (R)is wrong 
c. Both (A) and (R) are correct; but (R)is not the correct explanation of (A) 
d. Both (A) and (R)are correct, and (R)is the correct explanation of (A)  
e. Answer not known 
$w;W (A): Ra khpahij ,af;fj;jpd; Kf;fpa Nehf;fq;fspy; xd;W ngz; tpLjiyAk; 

MFk;. 
fhuzk; (R): ngz;fs; jq;fs; fUj;Jf;fisg; gfph;e;J nfhs;s ,e;j ,af;fk; xU 

,lj;ij toq;fpaJ. 
a.  (A) kw;Wk; (R) jtW 
b. (A) kl;Lk; rhp  (R) jtW 
c. (A) kw;Wk; (R) rhp  (R) (A) cila rhpahd tpsf;fky;y. 
d. (A) kw;Wk;  (R) rhp>  (R) (A) cila rhpahd tpsf;fkhFk;. 
e. tpil njhpatpy;iy 
 

11. Who is the Author of “Aasarakkovai”? 
a. Poothanjsenthanar   b. Pullangkadanar   c. Poigaiyar  
d. Peruvayin Mullaiyar   e. Answer not known 
“Mrhuf;Nfhit” vd;w E}ypd; Mrphpah; ahh;? 
a. G+jQ;Nre;jdhh;    b. Gy;yq;fhldhh;  c. ngha;ifahh; 
d. ngUthapy; Ks;spah;   e. tpil njhpatpy;iy 
 

12. Among the pillaitamil paruvangal which one is suitable for the age “Ammanai”? 
a. 17-18    b. 19-20   c. 21-22 
d. 23-24    e. Answer not known 
gps;isj; jkpo;g; gUtq;fSs; ‘mk;khid’ gUtj;jpw;Fhpa fhyk; vJ? 
a. 17-18    b. 19-20   c. 21-22 
d. 23-24    e. tpil njhpatpy;iy 
 

13. Which policy weakened the central authority of the Delhi Sultanate? 
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a. Jagir system   b. Blundering policy 
c. Plundering policy   d. Murdering policy 
e. answer not known 
ve;j nfhs;if nly;yp Ry;jhdpahpd; ika mjpfhuj;ij tYtpof;f itj;jJ? 
a. [hfPh; epykhdpaKiw  b. jtwpioj;jy; nfhs;if   
c. nfhs;isaply; nfhs;if  d. nfhiyf; nfhs;if 
e. tpil njhpatpy;iy 
 

14. Name the ruler who was called as “Akbar of Kashmir’ among Delhi Sultanate rulers. 
a. Zain – ud – Abidin  b. Husain Shah   c. Shah Mirza 
d. Jalol – ud – din   e. Answer not known 
by;yp Ry;jhdpa kd;dh;fspy; “fh~;kPhpd; mf;gh;’ vd;wiof;fg;gl;lthpd; ngaiuf; 
Fwpg;gpLf. 
a. [pahTjpd; mgpjpd;  b. `{ird; ~h  c. ~h kph;rh  
d. [yhYjpd;    e. tpil njhpatpy;iy 
 

15. Who ascended the throne after the death of Aurangazeb in 1701? 
a. Bahadur Shah I   b. Farukh Shiyar   c. Muhammad Kam 
d. Alam Shah   e. Answer not known 
1707 y; xsuq;frPg; ,wg;gpw;F gpd; mhpaiz Vwpath; ahh;? 
a. gfJ}h; ~h I   b. /g&f; ~;ah;  c. Kfk;kJ fhk;  
d. myhk; ~h    e. tpil njhpatpy;iy 
 

16. At what rate percentage p.a. will Rs. 5625 amount to Rs. 6084 in 2 years at compound 
interest? 
a. 2%  b. 2.08% c. 4%  d. 4.08% e. Answer not known 
ve;j $l;L tl;b tPjj;jpy; &. 5625 MdJ 2 Mz;Lfspy; &.6084 Mf khWk;? (tl;b 
Mz;Lf;F xU Kiw) 
a. 2%  b. 2.08% c. 4%  d. 4.08% e. tpil njhpatpy;iy 

 
17. When two dice are rolled, what is the probability that the sum of the faces added up is 

less than 9? 

a. 
13

36
  b. 

18

36
  c. 

13

18
  d. 

12

18
  e. Answer not known 

,U gfilfs; cUl;lg;gLk;NghJ fpilf;Fk; vz;fspd; $Ljy; 9 I tplr; rpwpajhf 
,Uf;f epfo;jfT vd;d? 

a. 
13

36
  b. 

18

36
  c. 

13

18
  d. 

12

18
  e. tpil njhpatpy;iy 

 

18. The value of 4+1+ 
1

4
+ …….. +  is 

a. 
16

3
   b. 

4

3
  c. 

32

3
  d. 

64

3
  e. Answer not known 

4+1+ 
1

4
+ …….. +  d; kjpg;G 

a. 
16

3
   b. 

4

3
  c. 

32

3
  d. 

64

3
  e. tpil njhpatpy;iy 

 

19. The length and breadth of a rectangular plot  are 5  105 and 410 4 metres respectively. 
Find the area of a rectangle. 
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a. 9101 m2    b. 9101 m2   c. 21010 m2  

d. 201020 m2    e. Answer not known 

xU nrt;tf tbt tPl;L kidapd; ePsk; kw;Wk; mfyq;fs; KiwNa 5  105 kw;Wk; 

4104  vdpy; mjd; gug;G fhz;f. 

a. 9101 m2    b. 9101 m2   c. 21010 m2  

d. 201020 m2    e. tpil njhpatpy;iy 
  

20. Find the sum of the following 6+13+20 + ……+97 
a. 721  b. 724  c. 727  d. 750  e. Answer not known 
gpd;tUtdtw;wpy; $Ljy; fhz;f: 
6+13+20 + ……+97 
a. 721  b. 724  c. 727  d. 750  e. tpil njhpatpy;iy 
 

21. Given F1 = 1, F2 = 3, Fn = Fn-1 +Fn-2  then F10 is 
a. 29   b. 322  c. 199  d. 123  e. Answer not known 
F1 = 1, F2 = 3, kw;Wk;  Fn = Fn-1 +Fn-2  vdf; nfhLf;fg;gbd; F10 MdJ 
a. 29   b. 322  c. 199  d. 123  e. tpil njhpatpy;iy 
 

22. (i) Diagonals of a rhombus always bisect each other. 
(ii) Diagonals of a rhombus always cut at right angles 
a. (i) and (ii) both are correct   b. (i) is correct and (ii) is wrong 
c. (i) is wrong and (ii) is correct   d. (i) and (ii) both are wrong 
e. Answer not known 
(i) rha; rJuj;jpd; %iytpl;lq;fs; vg;NghJk; ,U rkf; $wpLk;. 

(ii) rha;rJuj;jpd; %iytpl;lq;fs; vg;NghJk; nrq;Nfhzj;jpy; ntl;bf; nfhs;Sk;. 
a. (i) kw;Wk;  (ii) ,uz;Lk; rhp   b. (i) rhp kw;Wk;  (ii) jtW 
c. (i)jtW kw;Wk;  (ii) rhp    d. (i) kw;Wk;  (ii) ,uz;Lk; jtW  
e. tpil njhpatpy;iy 
 

23. On folding the given paper which of the following cube can not be formed? 

 

1.   2.   3.   4.   
 a. 1,2,3 and 4    b. 1,2 and 4   c. 1,2 and 3 
 d. 1,3 and 4    e. Answer not known 

nfhLf;fg;gl;l fhfpjj;ij kbj;jhy; fPo;f;fz;l ve;j fdr;rJuj;ij cUthf;f KbahJ? 
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1.   2.   3.   4.   
  

a. 1,2,3 kw;Wk;   4    b. 1,2 kw;Wk;   4  c. 1,2 kw;Wk;  3 
 d. 1,3 kw;Wk;   4    e. tpil njhpatpy;iy 
 
 
24. Kamal can do a work in 15 days. Bimal is 50 % more efficient than Kamal.  The number 

of days Bimal will take to do the same work is 
a. 10.5 days     b. 15 days   c. 12 days 
d. 10 days    e. Answer not known 
fky; xU Ntiyia 15 ehl;fspy; nra;J Kbg;ghh;. gpky;> fkiy tpl 50% mjpf 
jpwik cilath; vdpy;> mNj Ntiyia gpky; vj;jid ehl;fspy; nra;J Kbg;ghh;? 
a. 10.5 ehl;fs;   b. 15 ehl;fs;   c. 12 ehl;fs; 
d. 10 ehl;fs;    e. tpil njhpatpy;iy 
 

25. 5 boys or 3 girls can do a science project in 40 days.  How long will it take for 15 boys 
and 6 girls to do the same project? 
a. 12   b. 8  c. 10   d. 16  e. Answer not known 
5 khzth;fs; my;yJ 3 khztpfs; xU mwptpay; jpl;lr; nrayiy 40 ehs;fspy; 
Kbg;gh;. 15 khzth;fs; kw;Wk; 6 khztpfs; mNj jpl;lr; nraiy Kbf;f vj;ji d 
ehs;fshFk;? 
a. 12   b. 8  c. 10   d. 16  e. tpil njhpatpy;iy 
 

26. The radius of a cylinder is one third of its height, then the total surface area of the 
cylinder is  

a. 
2

8

9

h
   b. 

2
9

8

h
   c. 2

24 h  

d. 
2

56

9

h
   e. Answer not known 

xU cUisapd; Muk; mjd; cauj;jpy; %d;wpy; xU gq;F vdpy; mjd; nkhj;jg; Gwg; 
gug;G 

a. 
2

8

9

h
   b. 

2
9

8

h
   c. 2

24 h  

d. 
2

56

9

h
   e. tpil njhpatpy;iy 

 
27. If a quarter of circular paper of diameter 28 cm is made into a cone, find the slant height 

and C.S.A. of the cone 
a. 14 cm, 154 cm2   b. 28 cm, 154 cm2   c. 28 cm, 308 cm2 
d. 14 cm, 308 cm2   e. Answer not known 
28 nr.kP. tpl;lKila xU tl;lj;jpd; fhy; gFjpia xU $k;ghf tisj;jhy;> $k;gpd; 
rhAauk; kw;Wk; tis gug;igf; fhz;f: 
a. 14 nr.kP., 154 nr.kP.2  b. 28 nr.kP., 154 nr.kP.2  c. 28 nr.kP., 308 nr.kP.2 
d. 14 nr.kP., 308 nr.kP.2  e. tpil njhpatpy;iy 
 

28. Find the compound interest for the data given below: 
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Principle = Rs. 5,000, r= 4%, p.a., n = 1 
1

2
years, interest compounded half- yearly. 

a. Rs. 306.50    b. Rs. 310.50   c. Rs. 307  
d. Rs. 306.04    e. Answer not known 

mry; = &. 5>000> Mz;L tl;b tPjk; r= 4%, p.a., n = 1 
1

2
 Mz;Lfs;> miuahz;Lf;F xU 

Kiw tl;b fzf;fplg;gLfpwJ. 
a. &.306.50    b. &. 310.50   c. &. 307  
d. &. 306.04    e. tpil njhpatpy;iy 
 

29. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second 
hour and again increases by 10% in the third hour.  Find the count of the bacteria at the 
end of 3 hours.  If its initial count was 10,000. 
a. 10,626   b. 10,620   c. 10,660 
d. 10,266   e. Answer not known 
xU tifahd ghf;Bhpah> KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> 2 tJ xU 
kzp Neuj;jpy; 8% tsh;r;rp Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% tsh;r;rpAk; 
milfpwJ. njhlf;fj;jpy; mjd; vz;zpf;if 10>000 Mf ,Ue;jJ vdpy;> %d;W kzp 
Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f. 
a. 10,626   b. 10,620   c. 10,660 
d. 10,266   e. tpil njhpatpy;iy 
 

30. A sum of Rs. 46,000 was lent out at simple interest and at the end of 1 year 9 months, 
the total amount was Rs. 52,440.  Find the rate of interest per year 
a. 6%  b. 8%  c. 10 %  d. 4%  e. Answer not known 
mry; &. 46>000 I 1 Mz;L 9 khjf; fhyj;jpw;Fg; gpwF jdp tl;b %yk; nkhj;jj; 
njhifahf &.52> 440 Mf cah;e;jJ vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 6%  b. 8%  c. 10 %  d. 4%  e. tpil njhpatpy;iy 
 

31. Sheela has paid simple interest on a certain sum for 4 years at 9.5% per annum is 
Rs.21,280. Find the sum 
a. Rs. 60,000   b. Rs. 58,000   c. Rs. 56,000 

d. Rs. 54,000   e. Answer not known 
~Pyh vd;gth; xU Fwpg;gpl;l mrYf;F 4 Mz;LfSf;F 9.5% tl;b tPjj;jpy; jdp 
tl;bahf &.21>280 Ir; nrYj;jpdhh; vdpy;> mriyf; fhz;f. 
a. &. 60,000   b. &. 58,000   c. &. 56,000 
d. &. 54,000   e. tpil njhpatpy;iy 
 

32. Simple interest on Rs. 1,000 at 10% per annum for 2 years is 
a. Rs. 2,000   b. Rs.l,000   c. Rs. 200 
d. Rs. 100   e. Answer not known 
&. 1000 f;F 10% tl;b tPjk; 2 Mz;LfSf;Fj; jdp tl;b 
a. &. 2,000   b. &. l,000   c. &. 200 
d. &.100   e. tpil njhpatpy;iy 
 

33. 60 workers can spin a bale of cotton in 7 days. In how many days will 42 workers spin 
it? 
a. 13 days    b. 15 days   c. 10 days 
d. 14 days    e. Answer not known 
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60 Ntiyahl;fs; xU gUj;jp E}y; cUz;ilia E}w;f 7 ehl;fs; Njitg;gLfpwJ. 42 
Ntiyahl;fs; mNj Ntiyiar; nra;J Kbf;f vj;jid ehl;fs; MFk;.  
a. 13 ehl;fs;    b. 15 ehl;fs;   c. 10 ehl;fs; 
d. 14 ehl;fs;    e. tpil njhpatpy;iy 
 

34. A family cleans a house for Pongal celebration by dividing the work in the ratio 1:2:3. 
Express each portion of work as percentage. 

a. 10% , 20%, 30%   b. 12%, 24%, 36%  c. 20
2

3
%, 41

1

3
, 62% 

d. 16 
2

3
%, 33 

1

3
%, 50%  e. Answer not known 

xU FLk;gk; nghq;fy; nfhz;lhl;lj;jpw;fhf> tPl;ilr; Rj;jk; nra;tjw;F Ntiyia 1:2:3 
vd;w tpfpjj;jpy; gfph;e;J nfhz;ldh; vdpy;> Ntiyapd; xt;nthU gFjpiaAk; rjtPjkhf 
ntspg;gLj;jTk;. 

a. 10% , 20%, 30%   b. 12%, 24%, 36%  c. 20
2

3
%, 41

1

3
, 62% 

d. 16 
2

3
%, 33 

1

3
%, 50%  e. tpil njhpatpy;iy 

 
35. Find the LCM of the following 24 x2 y3 z4,  8x3 y2 z2, 16 xy2 z3 

a. 8x3 y3 z3    b. 48 x3 y3 z3   c. 48x3 y3 z4  
d. 48x2 y3 z4    e. Answer not known 
gpd;tUtdtw;wpw;F kP.ngh.k (LCM) fhz;f24 x2 y3 z4,  8x3 y2 z2, 16 xy2 z3 
a. 8x3 y3 z3    b. 48 x3 y3 z3   c. 48x3 y3 z4  
d. 48x2 y3 z4    e. tpil njhpatpy;iy 
 

36. Find the LCM of 8x4 y2 , 48x2 y4  
a. 6xy    b. 48 x4 y4    c. 96 x2 y2 
d. 384 x6 y6   e. Answer not known 
kP.ngh.k (LCM) fhz;f. 8x4 y2 , 48x2 y4 
a. 6xy    b. 48 x4 y4    c. 96 x2 y2 
d. 384 x6 y6   e. tpil njhpatpy;iy 
  

37. The HCF of x2 +4x -12 and x2 – 5x +6 is 
a. x-2    b. x+2     c. x+6   
d. x-3    e. Answer not known 
x2 +4x -12 kw;Wk;  x2 – 5x +6 Mfpatw;wpd; (kP.ngh.fh.) kPg;ngU nghJ fhuzp _____ MFk;.  
a. x-2    b. x+2     c. x+6   
d. x-3    e. tpil njhpatpy;iy 
 

38. a book seller has 175 English books, 245 science books and 385 mathematics books. He 
wants to sell the books in a box, subject wise in equal numbers, what will be the 
greatest number of the boxes required? 
a. 77   b. 63  c. 49  d. 35  e. Answer not known 
E}y; tpw;gidahsh; 175 Mq;fpy E}y;fisAk; 245 mwptpay; E}y;fisAk; 385 fzpj 
E}y;fisAk; itj;Js;shh;. xt;nthU ngl;bapYk; ghlthhpahfr; rk vz;zpf;ifapy; 
%d;W ghl E}y;fisAk; itj;J tpw;f tpUk;Gfpwhh;. mjpfgl;rkhf vj;jid ngl;bfs; 
Njitg;gLk;? 
a. 77   b. 63  c. 49  d. 35  e. tpil njhpatpy;iy 
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39. Simplify : 3 75  + 5 48  – 243  

a. 25 5     b. 15 3    c. 26 3  

d. 26 5     e. Answer not known 

RUf;Ff: 3 75  + 5 48  – 243  

a. 25 5     b. 15 3    c. 26 3  

d. 26 5     e. tpil njhpatpy;iy 

 
40. An item marked at Rs. 840 is sold for Rs. 714.  What is the discount %? 

a. 20%  b. 15%  c. 10%  d. 5%  e. Answer not known 
Fwpj;j tpiy &.840 cila xU nghUs; &.714 f;F tpw;fg;gl;lJ. mjd; js;Sgb 
rjtPjk; vd;d? 
a. 20%  b. 15%  c. 10%  d. 5%  e. tpil njhpatpy;iy 
 

41. Tamil Nadu Urban Health Care project in implemented with the support of 
a. Japan    b. China   c. France 
d. America    e. Answer not known 
jkpo;ehL efh;g;Gw Rfhjhuj; jpl;lk; ____ ehl;L MjuTld; nray;gLj;jg;gLfpwJ.  
a. [g;ghd;    b. rPdh   c. gpuhd;]; 
d. mnkhpf;fh    e. tpil njhpatpy;iy 
 

42. The Human Development Index (HDI) does not take into account the following 
dimension is its calculation. 
a. Gender Ratio   b. Health Level  c. Education Level 
d. Income Level   e. Answer not known 
kdpjts Nkk;ghl;L FwpaPL (HDI) fzf;fpy; gpd;tUk; ve;jg;ghpkhzj;ij vLj;Jf; 
nfhs;stpy;iy?  
a. ghypd tpfpjk;   b. cly; eyk;   c. fy;tp  
d. tUkhdk;    e. tpil njhpatpy;iy 
 

43. In the first general election held in 1952, the number of women candidates who were 
elected was? 
a. 22   b. 33  c. 2  d. 222  e. Answer not known 
1952 ,y; eilngw;w Kjy; nghJj; Njh;jypy; ntw;wp ngw;w ngz; Ntl;ghsh;fspd; 
vz;zpf;if ahJ?  
a. 22   b. 33  c. 2  d. 222  e. tpil njhpatpy;iy 
 

44. Find the correct Assertion: 
Assertion (A) : Coimbatore, Tiruppur and Erode region is called as the textile 

 valley of Tamil Nadu. 
Reason (R) : They contribute a major share to the state economy through  
   textiles. 
a. Both (A) and (R) are true and (R) explains (A) 
b. Both (A) and (R) are true but, (R) does not explain (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R)is true 
e. Answer not known 
rhpahd $w;wpid fz;Lgpb: 
$w;W (A): Nfhak;Gj;J}h;> jpUg;G+h; kw;Wk; <NuhL kz;lyk; jkpo;ehl;bd; [Tsp 

gs;sj;jhf;F vd miof;fg;gLfpwJ.  
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fhuzk; (R): ,itfs; nerthiyfs; %yk; ehl;bd; nghUshjhuj;jpy; Kf;fpa 
gq;fspg;ig mspf;fpd;wd. 

a. $w;W (A) kw;Wk; fhuzk; (R),uz;Lk; rhp: fhuzk; (R)> $w;Wf;fhd (A)rhpahd 
tpsf;fkhFk;. 
b. $w;W (A)kw;Wk; fhuzk; (R),uz;Lk; rhp: Mdhy; fhuzk; (R) $w;wpd; (A) rhpahd 
tpsf;fk; my;y. 
c. $w;W (A) rhp. Mdhy; fhuzk; (R) jtW 
d. $w;W (A) jtW. Mdhy; fhuzk; (R) rhp 

 e. tpil njhpatpy;iy 
 

45. In which year was the Tamil Nadu Manual workers Act passed? 
a. 1982  b. 1985 c. 1992  d. 2000 e. Answer not known 
jkpo;ehL clYiog;Gj; njhopyhsh;fs; rl;lk; ve;j Mz;L epiwNtw;wg;gl;lJ?  
a. 1982  b. 1985 c. 1992  d. 2000 e. tpil njhpatpy;iy 
 

46. Which of the following is incorrectly paired? 
(i) TACTV -Tamil Nadu Authority Cable TV Corporation Ltd. 
(ii) PACCS- Primary Agricultural Co-operative Credit Societies. 
(iii) VPRCs- Village Poverty Reduction Committees. 
(iv) CSCs- Central Service Centres. 
a. (i) and (ii)    b. (ii) and (iii)  c. (iii) and (iv) 
d. (i) and (iv)    e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ?  
(i) TACTV -jkpo;ehL Mizak; Nfgps; btp fhh;g;gNu~d; ypkpnll;.  
(ii) PACCS- njhlf;f Ntshz;ik $l;LwT fld; rq;fq;fs;. 
(iii) VPRCs- fpuhk tWikf; Fiwg;Gf; FOf;fs; 
(iv) CSCs- kj;jpar; Nrit ikaq;fs;    
a. (i) kw;Wk;  (ii)   b. (ii) kw;Wk;  (iii)  c. (iii) kw;Wk;  (iv) 
d. (i) kw;Wk; (iv)   e. tpil njhpatpy;iy 
 

47. A social movement is generally oriented towards the purpose of 
a. Social Progress    b. Social Change 

c. Social Development   c. Cultural Change 
e. Answer not known 
r%f ,af;fj;jpd; nghJthd Nehf;fk; vd;gJ 
a. r%f tsh;r;rp    b. r%f khw;wk; c. r%f Nkk;ghL 
d. fyhr;rhu khw;wk;    e. tpil njhpatpy;iy 
 

48. ________ refused remarriage and fought for an education, becoming an educationist for 
35 years during the British Raj. 
a. Dr. Muthulakshmi Reddy  b. Dr. S. Dharmambai 
c. Ms. R. Lilavati    d. Ramabai Ranade  
e. Answer not known 
___________ kWkzk; nra;Jnfhs;s kWj;jhh;> fy;tpf;fhfg; Nghuhbdhh;. Mq;fpNyah; 
Ml;rpf; fhyj;jpy;> fy;tpahsuhf cah;e;J> 35 Mz;Lfs; rpwg;Gld; nray;gl;lhh;. 
a. lhf;lh;. Kj;Jyl;Rkp nul;b  b. lhf;lh;.S.jh;kk;gha; 
c. R.yPyhtjp     d. ukh gha; uhdNl 
e. tpil njhpatpy;iy 
 



 

11 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

49. _______ is a type of social movement that aims to gradually change or improve certain 
aspects of society such as education or health care. 
a. Freedom Movement   b. Reform Movement 

c. Cultural Movement   d. Historical Movement 
e. Answer not known 
_______ vd;gJ xU tif r%f ,af;fkhFk;. ,J fy;tp> MNuhf;fpak; Nghd;w r%f 
epiyfisg; gbg;gbahf khw;WtijAk; Nkk;gLj;JtijAk; Nehf;fkhff; nfhz;Ls;sJ. 
a. Rje;jpu ,af;fk;  b. rPh;jpUj;j ,af;fk;   c. fyhr;rhu ,af;fk;  
d. tuyhw;W ,af;k;  e. tpil njhpatpy;iy 
 

50. Which of the following is not a scheme for higher education under the Adi Dravidar 
Welfare Department of Tamil Nadu? 
a. Post Matric Scholarship    
b. Ph. D. Scholarship 
c. Post Doctoral Fellowship   
d. Overseas Scholarship for Post graduate and Research 
e. Answer not known 
gpd;tUtdtw;Ws; jkpo;eh LMjp jpuhtplh; eyj;Jiwapd; fPo; cah; fy;tpf;fhd jpl;lk; 
vJ my;y?  
a. gs;sp Nkw;gbg;G cjtpj;njhif   
b. Kidth; gl;lg;gbg;G cjtpj;njhif 
c. KJ Kidth; cjtpj;njhif   
d. KJfiy kw;Wk; Muha;r;rpf;fhd ntspehl;L cjtpj;njhif    
e. tpil njhpatpy;iy 
 

51. Theme for National Science day 2020 is 
a. People for science     
b. Women in science 
c. Contribution of science for the development of the nation 
d. Science and Technology for a sustainable future 
e. Answer not known 
2020k; Mz;by; Njrpa mwptpay; jpdj;jpd; fUg;nghUs; ____ MFk;. 
a. kf;fSf;fhd mwptpay;     
b. mwptpaypy; ngz;fs; 
c. ehl;bd; tsh;r;rpapy; mwptpaypd; gq;F 
d. epiyj;j vjph;fhyj;jpw;F mwptpay; kw;Wk; njhopy; El;gk; 
e. tpil njhpatpy;iy 
 

52. The theory of use and disuse was given by 
a. Stebbins   b. Lamarck   c. Aristotle 
d. Aristotle   e. Answer not known 
gad;gLj;Jjy; kw;Wk; gad;gLj;jhik Nfhl;ghl;il Kd;nkhope;jth; 
a. ];nlg;gpd;];  b. nykhh;f;   c. mhp];lhl;by; 
d. rhh;y]; lhh;tpd;  e. tpil njhpatpy;iy 
 

53. Which among the following will improve scientific knowledge? 
a. observation  b. Assumption  c. Superstition 
d. Intolerence  e. Answer not known 
fPo;f;fz;ltw;wpy; tpQ;Qhd mwpit tsh;g;gJ vJ? 
a. ftdpj;jy;   b. mDkhdk;   c. %lek;gpf;if 
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d. rfpg;Gj;jd;ikapd;ik e. tpil njhpatpy;iy 
 

54. The largest division of geological time is  
a. Eon    b. Era    c. Period 
d. Mesozoic Era  e. Answer not known 
Gtpapay; fhy ml;ltizapd; kpf nghpa gphpT vJ? 
a. Afk;    b. rfhg;jk;   c. fhyk; 
d. kPNrhNrhapf; fhyk; e. tpil njhpatpy;iy 

 
55. Darwin, during his voyage in 1835 studied the Flora and Faura of 

a. Greenland    b. Channel Islands  c. Galapagas Islands 
d. Queen Elizabeth Islands  e. Answer not known 
lhh;tpd; jd;Dila 1835 Mk; Mz;L gazj;jpy; ,e;j jPTfspYs;s jhtu kw;Wk; 
tpyq;Ffs; Fwpj;J Muha;r;rp Nkw;nfhz;lhh;. 
a. fphPd;yhe;J    b. Nrdy; jPTfs;  c. fyghf]; jPTfs; 
d. uhzp vyprngj; jPTfs;  e. tpil njhpatpy;iy 

 
56. The site for Kreb’s cycle is 

a. Grana of Chloroplasts    b. Matrix of Mitochondrian 

c. Stoma of Chloroplast    d. Inner Mitochondrial membrane 
e. Answer not known 
fpnug;]; Row;rp eilngWk; gFjp 
a. gRq;fzpfj;jpd; fpuhdq;fs;   b. ikl;Nlhfhz;l;hpaj;jpd; Nkl;hpf;]; 
c. gRq;fzpfj;jpd; ];l;Nuhkh   d. ikl;Nlhfhz;l;hpaj;jpd; cs; rt;T 
e. tpil njhpatpy;iy 

 
57. The chemical name of 2, 4, 5 T is 

a. 2, 4-dintiro-5-dipropyl difluro methyl benzene 
b. 2, 4, 5-trichloro phenoxy acetic acid 
c. 2, 4-dichloro, 5-Fluro phenoxy acetic acid 
d. 2, 4-dinitro-5-butylphenol 
e. Answer not known 
2, 4, 5 T vd;w fisf; nfhy;ypapd; ,urhadg;  ngah; ____ MFk;. 
a. 2>4-iliel;Nuh-5-ilGNuhigy; il GNshNuh kPj;ijy; ngd;rPd; 
b. 2>4>5-biuFNshNuh / gPdhf;]p mrpbf; mkpyk; 
c. 2>4-iel;Nuh> 5-/GNshNuh /gPdhf;]py; mrpbf; mkpyk; 

d. 2>4-iliel;Nuh-5-gpA+l;ily; /gPdhy; 
e. tpil njhpatpy;iy 

 
58. Sun is now in which of the following stages? 

a. Main sequence star  b. Red giant star  c. White dwarf 
d. Black hole    e. Answer not known 
#hpad;> jw;NghJ> fPo;f;fz;ltw;Ws;> ve;j epiyapy; ,Uf;fpwJ? 
a. Kf;fpa thpir tpz;kPd;  b. nrk; ngU tpz;kPd; c. ntz; FWkPd; 
d. fUq;Fop    e. tpil njhpatpy;iy 

 
59. “Arisa Pitha” a traditional sweet pan cake is associated with ____ community. 

a. Todas   b. Madigas   c. Pindaris 
d. Santhals   e. Answer not known 
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‘mhpr gpj’ xU ghuk;ghpa gzpahu tif ,dpg;ghdJ _____ ,d kf;fNshL 
njhlh;GilaJ.  
a. Njhlh;   b. kbfh];   c. gpz;lhhp 
d. rhe;jy;   e. tpil njhpatpy;iy 

 
60. Armand Duplantis the new world record holder in the pole vault at the world Athletics 

championship belongs to which country? 
a. Sweden   b. Switzerland  c. Scotland 
d. San Marino  e. Answer not known 
cyf jlfsg; Nghl;bapy; NfhY}d;wp cauk; jhz;Ljypy; cyf rhjid gilj;Js;s 
mh;khz;l; ^g;shd;b]; ve;j ehl;ilr; rhh;e;jth;? 
a. ];tPld;    b. ];tpl;rh;yhe;J  c. ];fhl;yhe;J 
d. rhd; khhpNdh  e. tpil njhpatpy;iy 

 
61. Which is India’s first home-built aircraft carrier? 

a. INS Godavari   b. INS Vikranth  c. INS Talwar 
d. INS Brahmaputra   e. Answer not known 
,e;jpahtpd; cs;ehl;bNyNa jahhpf;fg;gl;l Kjy; tpkhdk; jhq;fpf; fg;gy; vJ? 
a. INS Nfhjhthp   b. INS tpf;uhe;j;  c. INS jy;thh; 
d. INS gpuk;kGj;uh   e. tpil njhpatpy;iy 

 
62. According to the research study published in Journal Environmental Science and 

Technology rainwater is no longer potable as it is contaminated with forever chemicals. 
Find out the forever chemical from the following. 
a. Polyfluoroalkyl substances   b. Polyamines 
c. Alkyl substances     d. Polyhydroxy butyrated substances 
e. Answer not known 
Rw;Wr;#oy; mwptpay; kw;Wk; njhopy;El;g ,jo; ntspapl;l Muha;r;rp Ma;tpd;gb> kioePh; 
vg;NghJk; urhadq;fshy; khRgl;Ls;sjhy; ,dp Fbf;f KbahJ. gpd;tUtdtw;Ws; 
vg;nghOJk; khRgLj;Jk; urhadj;ij fz;Lgpb. 
a. ghyp/g;@Nuh my;ify; nghUl;fs; b. ghyp mikd; nghUl;fs; 
c. my;ify; nghUl;fs;   d. ghypi`l;uhf;rp gpA+l;Nul;lhL nghUl;fs; 
e. tpil njhpatpy;iy 
 

63. By which constitutional amendment did Delhi get the Legislative Assembly? 
a. 67th  b. 69th  c. 71st  d. 79th  e. Answer not known 
ve;j murpayikg;G rhrd jpUj;jk; nly;ypf;F rl;lrigiag; ngw;Wj; je;jJ? 
a. 67-tJ b. 69-tJ c. 71-tJ d. 79-tJ e. tpil njhpatpy;iy 

 
64. According to the announcement of U.N. assembly, year of light- and light-based 

technology is 
a. 2016 b. 2020 c. 2018  d. 2015 e. Answer not known 
I.eh. mitapdJ mwptpg;gpd;gb> xsp kw;Wk; xsp mbg;gilapyhd njhopy; 
El;gq;fSf;fhd Mz;L 
a. 2016 b. 2020 c. 2018  d. 2015 e. tpil njhpatpy;iy 

 
65. “National Lokmanya Tilak Award” for the year 2022 was awarded to 

a. Tessy Thomas  b. Sundrelal Bahuguna  c. Andrew Pollard 
d. Suprabhat Mukerjee e. Answer not known 
2022-Mk; Mz;bw;fhd “Njrpa Nyhfkhd;a jpyf; tpUjpidg;” ngw;wth; 
a. nl]p jhk];  b. Re;jh;yhy; g`PFdh  c. Md;l;& nghy;yhh;L 
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d. Rg;ughj; Kfh;[p  e. tpil njhpatpy;iy 
 
66. An example of Conventional energy resource is 

a. Geothermal energy  b. OTEC energy  c. Dendrothermal energy 
d. Coal energy   e. Answer not known 
kuG rhh;e;j vhprf;jp tsj;jpw;F Xh; cjhuzk; 
a. Gtp ntg;g Mw;wy;  b. OTEC Mw;wy;  c. kuntg;g Mw;wy; 
d. epyf;fhp Mw;wy;   e. tpil njhpatpy;iy 

 
67. The recent revelation of the study conducted by oxford Economics marked several 

Indian cities in top ten categories of fastest growing cities of the world. In India, the 
sixth fastest growing city is 
a. Thiruchirappalli   b. Tiruppur   c. Chennai 
d. Madurai    e. Answer not known 
Mf;];Nghh;L nghUshjhuk; elj;jpa mz;ikf;fhy Ma;TfspypUe;J cyfpd; kpf 
Ntfkhf tsh;e;J tUk; khefuq;fspy; ,e;jpa khefuq;fs; Kjy; gj;J ,lq;fisg; 
gpbj;Js;sd. ,e;jpahtpd; kpf Ntfkhf tsh;e;J tUk; khefuq;fspy; 6-tJ ,lj;ij 
gpbj;Js;s efuk;. 
a. jpUr;rpuhg;gs;sp   b. jpUg;G+h;   c. nrd;id 
d. kJiu    e. tpil njhpatpy;iy 

 
68. Who divided India into six Zoo-geographic regions? 

a. Champion. H.G.   b. Mathur. V.P.  c. Negi. S.S. 
d. Prater. S.H.   e. Answer not known 
,e;jpahit MW caphpd Gtpapay; kz;lyq;fshf gphpj;jth; ahh;? 
a. Nrk;gpad; H.B.   b. khj;J}h; V.P.  c. nefp S.S. 
d. gpNul;lh; S.H.   e. tpil njhpatpy;iy 
 

69. Which easterly river of the peninsular India built fertile bird foot delta? 
a. The Godavari   b. The Kaveri   c. The Krishna 
d. The Pennar   e. Answer not known 
jPgfw;g ,e;jpahtpy; fpof;Nf ghAk; ejpfspy; tskhd gwit ghj mikg;G nfhz;l 
nly;lhit cUthf;Fk; ejp vJ? 
a. Nfhjhthp    b. fhNthp   c. fpU~;zh 
d. ngz;zhW    e. tpil njhpatpy;iy 

 
70. Which of the following is the relict of the world’s oldest mountain? 

a. Satpura Range   b. Aravali Range  c. Vindhya Range 
d. Sahyadris    e. Answer not known 
gpd;tUk; kionjhlhpy; vJ cyfpy; goikahd kiyfspd; gpujpgypg;G? 
a. rhj;Guh kiyj;njhlh;   b. Muty;yp kiyj;njhlh; c. tpe;jpah kiyj;njhlh; 
d. rh`;`pahj;jphp];   e. tpil njhpatpy;iy 

 
71. Who was the Author of Book “Indo-Sumerian Seals Deciphered”? 

a. Sir John Marshall   b. Dr. A.P. Agarwal  c. Robert H. Brunswig 
d. Laurence Waddell  e. Answer not known 
“The Indi-Sumerian Seals Deciphered” vd;w E}ypd; Mrphpah; ahh;? 
a. rh; [hd; khh;~y;   b. Kidth; A.P. mfh;thy; c. ,uhgh;l; H. gpud;];tpf; 
d. yhud;]; thly;   e. tpil njhpatpy;iy 

 
72. Which of the following statements is True regarding Indian states. 
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(i) Bombay and Gujarat were separated in 1960 
(ii) Janagath was ruled by a Hindu King. 
(iii) Tara Singh fought for Haryana 
(iv) Sikkim became the 22nd state of the union 
a. (i) and (iii) true (ii) and (iv) false  b. (i) and (ii) true (iii) and (iv) false 
c. (i) and (iv) true (ii) and (iii) false  d. (i) and (iv) false (ii) and (iii) true 
e. Answer not known 
fPNo Fwpg;gplg;gl;Ls;s ,e;jpa khepyq;fis gw;wp Fwpg;Gfspy; rhpahdJ vJ? 
(i) ghk;NgAk; F[uhj;Jk; 1960y; gphpf;fg;gl;lJ. 
(ii) [_dhfj; ,e;J murh;fshy; Msg;gl;lJ. 
(iii) jhuhrpq; `hpahdhtpw;fhf Nghuhbdhh; 
(iv) rpf;fpk; ,e;jpahtpd; 22tJ khepykhfpaJ 
a. (i) kw;Wk; (iii) rhp (ii) kw;Wk; (iv) jtW 
b. (i) kw;Wk; (ii) rhp (iii) kw;Wk; (iv) jtW 
c. (i) kw;Wk; (iv) rhp (ii) kw;Wk; (iii) jtW 
d. (i) kw;Wk; (iv) jtW (ii) kw;Wk; (iii) rhp 
e. tpil njhpatpy;iy 

 
73. Harappan deals how the picture of  

1. Rhinoceroses 
2. Elephants  
3. Tigers 
4. Camel 
a. 1 only    b. 1, 2 only   c. 1, 2, 3 only 
d. 1, 2, 3, 4    e. Answer not known 
`ug;gh Kj;jpiufspy; fhzg;gLk; Kj;jpiufs; 
1. ePh; ahidfs; 
2. ahidfs; 
3. Gypfs; 
4. xl;lfk; 
a. 1 kl;Lk;    b. 1> 2 kl;Lk;  c. 1> 2> 3 kl;Lk; 
d. 1> 2> 3> 4    e. tpil njhpatpy;iy 

 
74. Which one of the following is not correct about Guru Nanak? 

a. Nanak laid emphasis on the unity of God 
b. Nanak believed in Vedas and Quran 
c. Nanak believed in the Doctrine of Karma 
d. Nanak attacked caste system 
e. Answer not known 
fPo;f; Fwpg;gplg;gLgtw;wpy; FUehdf; Fwpj;j jtwhd xd;iwj; Njh;T nra;f. 
a. FUehdf; xUtNd Njtd; vd;w fUj;Jf;F Kf;fpaj;Jtk; nfhLj;jhh; 
b. FUehdf; Fuhd; kPJk; Ntjq;fs; kPJk; ek;gpf;if itj;jpUe;jhh; 
c. FUehdf; fh;khit ek;gpdhh; 
d. FUehdf; rhjp Kiwia vjph;j;jhh; 
e. tpil njhpatpy;iy 

 
75. The objective of the Article 15 of the Indian Constitution is 

a. The state shall not discriminate against any citizen on grounds of race, caste, sex, 
place of birth etc. 

b. Beggary is prohibited 
c. Prohibition of children in factories below the age of 14 years 
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d. Abolition of untouchability 
e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpd; 15-tJ ruj;jpd; Nehf;fk; 
a. ,dk;> rhjp> ghy;> gpwe;j ,lk;> Nghd;wtw;wpd; mbg;gilapy; ve;j xU FbkfDf;F 

vjpuhfTk; muR ghFghL fhl;lf;$lhJ 
b. gpr;ir vLj;jy; jil nra;ag;gLfpwJ. 
c. gjpdhd;F tajpw;Ff; fPo; cs;s rpWth;fisj; njhopw;rhiyfspy; gzpakh;j;Jjy; 

jil nra;ag;gLfpwJ. 
d. jPz;lhik jil nra;ag;gLfpwJ. 
e. tpil njhpatpy;iy 

 
76. Which among the following inscriptions mentioned that gold was brought from India 

and used for decorative purpose? 
a. Rabatak inscription    b. Hathigumpha Inscription 
c. Halmidi Inscription    d. Chaldean Inscription 

e. Answer not known 
gpd;tUtdtw;wpy; ve;jf; fy;ntl;by; jq;fk; ,e;jpahtpypUe;J nfhz;Ltug;gl;L 
myq;fhuj;jpw;fhfg; gad;gLj;jg;gl;lJ vdf; Fwpg;gpLfpwJ? 
a. uhghlf; fy;ntl;L   b. `jpFk;gh fy;ntl;L c. `y;kpb fy;ntl;L 
d. rhy;bad; fy;ntl;L  e. tpil njhpatpy;iy 

 
77. A Man died without a successor, then all his property should be utilized in the 

development of schools and colleges was ordered by 
a. Akbar   b. Humayun   c. Jahangir 

d. Aurangzeb  e. Answer not known 
xUth; thhpR ,y;yhky; ,we;Jtpl;lhy; mtUila nrhj;Jf;fs; midj;ijAk; gs;sp> 
fy;Y}hpfspd; tsh;r;rpf;F gad;gLj;j Ntz;Lk; vd;W _____ cj;jutpl;lhh;. 
a. mf;gh;   b. `_khA+d;   c. [`hq;fPh; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 

 
78. Who introduced the idea of “Sulh-i-kul” which means universal peace? 

a. Akbar   b. Sada Shiva Rao  c. Rafi-ud-Daullat 
d. Shivaji   e. Answer not known 
cyf mikjpiaf; Fwpf;Fk; Ry;-I-Fy; vd;w fUj;ij mwpKfg;gLj;jpath;? 
a. mf;gh;   b. rjhrptuht;   c. u/gp-cj;-njsyj; 
d. rpth[p   e. tpil njhpatpy;iy 

 
79. As per the Human Development Report of 2021-2022, India’s HDI was ____ and ranked 

_____. 
a. 0.633 and 132  b. 0.678 and 123  c. 0.633 and 123 
d. 0.623 and 132  e. Answer not known 
2021-2022-Mk; Mz;bd; kdpj Kd;Ndw;w mwpf;ifapd; gb ,e;jpahtpd; kdpj Kd;Ndw;w 
FwpaPL ____ kw;Wk; mjd; juthpir ____ MFk;. 
a. 0.633 kw;Wk; 132  b. 0.678 kw;Wk; 123  c. 0.633 kw;Wk; 123 
d. 0.623 kw;Wk; 132  e. tpil njhpatpy;iy 

 
80. MGNREGS seeks to provide at least ____ days of guaranteed wage employment in a 

financial year to at least ____ members of every rural household. 
a. 100 Days, 2 members  b. 150 Days, 2 members c. 150 Days, 1 member 
d. 100 Days, 1 member  e. Answer not known 
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MGNREGS - jpl;lj;jpd;gb fpuhkg;Gwq;fspy; cs;s xt;nthU FLk;gj;jpw;Fk; xU 
epjpahz;bw;F ____ ehl;fs; Ntiyaspg;G> FLk;gj;jpy; Fiwe;jgl;rk; ______ 
cWg;gpdh;/fSf;F cj;jputhuk; mspf;fg;gLfpwJ. 
a. 100 ehl;fs;> 2 cWg;gpdh;fs;    b. 150 ehl;fs;> 2 cWg;gpdh;fs; 
c. 150 ehl;fs;> 1 cWg;gpdh;     d. 100 ehl;fs;> 1 cWg;gpdh; 
e. tpil njhpatpy;iy 

 
81. The Seventh Five year plan was mainly focused on 

a. The Development of village and small scale Industries. 
b. Food, work and Productivity. 
c. Health and Family planning. 
d. Economic reforms and Liberalisation 
e. Answer not known 
VohtJ Ie;jhz;Lj; jpl;lj;jpy; vjpy; rpwg;Gf; ftdk; nrYj;jg;gl;lJ? 
a. fpuhk kw;Wk; rpwpa mstpyhd njhopy;fspd; tsh;r;rp  
b. czT> Ntiy kw;Wk; cw;gj;jpj;jpwd; 
c. Rfhjhuk; kw;Wk; FLk;g fl;Lg;ghL 
d. nghUshjhu rPh;jpUj;jq;fs; kw;Wk; jhuhskakhf;fy; 
e. tpil njhpatpy;iy 

 
82. The Eighth Finance commission introduced a new formula for distribution of the 

income tax among the states as 
(i) 10 Per cent distributed on the basis of collection of income Tax 
(ii) 90 Per cent distributed on the basis of population and per capita income. 
Select the correct answer by using the codes given below: 
a. (i) only   b. (ii) only   c. Both (i) and (ii) 

d. None of these above e. Answer not known 
rhpahd tpilia FwpaPLfisg; gad;gLj;jp njhpT nra;f. 
a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) ,uz;LNk 
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 

 
83. Tax revenue of the Central Government consists of 

(i) Individual Income taxes 
(ii) Corporate tax 
(iii) Commodity taxes or taxes on goods and services 
a. (i) only   b. (i) and (iii) only    c. (i) and (ii) only 
d. (i), (ii) and (iii) only e. Answer not known 
kj;jpa murpd; thp tUtha; ,jpy; mlq;Fk; : 
(i) jdpegh; tUkhd thp 
(ii) epWtdq;fspd; tUtha; kPjhd thpfs; 
(iii) ruf;F thpfs; my;yJ nghUl;fs; kw;Wk; Nritfs; kPjhd thpfs; 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (i), (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 

 
84. On the basis of the recommendations of the Ford Foundation, the Government of India 

introduced IADP in connection with Green Revolution in 1960 in Seven districts were 
selected from 7 States out of the following 4 States. Which state wasn’t selected for rice 
Production? 
a. Tamil Nadu   b. Uttar Pradesh  c. Andhra Pradesh 
c. Madhya Pradesh   e. Answer not known 
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‘/Nghh;L’ mwf;fl;lisapd; ghpe;Jiufspd; mbg;gilapy;> ,e;jpa murhq;fk; 1960-y; 
gRikg; Gul;rpapd; njhlh;ghf IADP-ia mwpKfg;gLj;jp> 7 khepyq;fspypUe;J 7 
khtl;lq;fis Njh;e;njLj;jJ. mjd;gb fPo;fz;l 4 khepyq;fSy; ve;j khepyk; mhprp 
cw;gj;jpf;Fj; Njh;e;njLf;fg;gltpy;iy? 
a. jkpo;ehL    b. cj;jug;gpuNjrk;  c. Me;jpug;gpuNjrk; 
d. kj;jpag;gpuNjrk;   e. tpil njhpatpy;iy 

 
85. Assertion [A]: Disguised unemployment Prevails in India 

Reason [R]:  Marginal Productivity of disguised unemployed labour is Zero. 
a. Both [A] and [R] are Correct 
b. Both [A] and [R] are incorrect 
c. [A] is correct; [R] is incorrect 
d. [A] is incorrect; [R] is correct 
e. Answer not known 
$w;W [A]: ,e;jpahtpy; kiwKf Ntiyapd;ik epyTfpwJ. 
fhuzk; [R]: kiwKf Ntiyapd;ikapy; njhopyhsh;fspd; ,Wjpepiy cw;gj;jpj;jpwd; 
   G+[;ak; MFk;. 
a. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rhp 
b. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; jtW 
c. $w;W [A] rhp; fhuzk; [R] jtW 
d. $w;W [A] jtW> fhuzk; [R] rhp 
e. tpil njhpatpy;iy 

 
86. Consider the following statements: 

(1) Ombudsman is a government official who investigates citizens complaints against 
the high government functionaries. 

(2) The Central Vigilance Commission (CVC) is designed to inquire into allegations by 
administrative officials of the State Government as well as Union Government. 

Which of the statement given above is/are correct? 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
fPo;fz;l thf;fpaq;fis cw;W Nehf;fTk; : 
(1) Mk;Gl;];Nkd; vd;gth; murpd; caujpfhhpfSf;F vjpuhd nghJkf;fspd; Gfhh;fis 

tprhhpf;Fk; murhq;f mjpfhhp Mthh;. 
(2) kj;jpa kw;Wk; khepy muRfspd; eph;thf mjpfhhpfSf;nfjpuhd Gfhh;fis 

tprhhpg;gjw;fhf kj;jpa fz;fhzpg;G Mizak; Vw;gLj;jg;gl;lJ. 
Nkw;Fwpg;gpl;ltw;wpy; ve;j thf;fpak; / thf;fpaq;fs; rhpahdit? 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. 1-k; my;y> 2-k; my;y  e. tpil njhpatpy;iy 

 
87. Match the following : 

Law      Year 
A. Preventive Detention Act   1. 1980 
B. National Security Act    2. 2002 
C. Prevention of Terrorism Act   3. 1970 
D. Maintenance of Internal Security Act  4. 1950 
 A B C D 
a. 4 1 2 3 
b. 1 3 2 4 
c. 3 2 1 4 
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d. 2 1 4 3 
e. Answer not known 
fPo;f;fhz;gtw;iwg; nghUj;Jf : 
 rl;lk;      Mz;L 
A. jLg;Gf; fhty; rl;lk;    1. 1980 
B. Njrg; ghJfhg;Gr; rl;lk;    2. 2002 
C. jPtputhjj; jLg;Gr; rl;lk;   3. 1971 
D. cs;ehl;Lg; ghJfhg;Gr; rl;lk;   4. 1950 
 A B C D 
a. 4 1 2 3 
b. 1 3 2 4 
c. 3 2 1 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
88. Match the following 

Subject     Related Article 
A. Adequate Means of Livelihood   1. Article – 38 
B. Decent Standard of Life    2. Article – 41 
C. Report to Work     3. Article – 43 
D. People’s Welfare     4. Article – 39 
 A B C D 
a. 3 2 1 4 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2 
e. Answer not known 
fPo;f;fhz;gtw;iwg; nghUj;Jf: 
 nghUs;    njhlh;ghd rl;l cWg;G 
A. NghJkhd tho;thjhuk;   1. rl;l cWg;G – 38 
B. fz;zpakhd ju tho;T   2. rl;l cWg;G – 41 
C. gzpAhpik     3. rl;l cWg;G – 43 
D. kf;fs; eyd;    4. rl;l cWg;G - 39 
 A B C D 
a. 3 2 1 4 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
89. Consider the following Statements and find the incorrect statements : 

The Rationale of Right to Information Implies. 
(1) Governance and Development 
(2) Ensuring official Secrecy 
(3) Transparency and Accountability 
(4) Prevention of Corruption 
a. (1) and (4) only   b. (1) and (2) only  c. (2) only 
d. (2) and (3) only   e. Answer not known  
fPo;f;fz;l $w;Wf;fisf; fUjTk;> mjpy; jtwhd $w;iwf; fz;lwpaTk; : 
jfty; mwpAk; chpikr;rl;lk; Fwpf;Fk; mwpthh;e;j jd;ikahdJ 
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(1) ey;yhl;rp kw;Wk; Nkk;ghL 
(2) mYtyh; ufrpaj;ij cWjpg;gLj;JtJ 
(3) ntspg;gilj; jd;ik kw;Wk; nghWg;Glik 
(4) Coiyj; jLj;jy; 
a. (1) kw;Wk; (4) kl;Lk;  b. (1) kw;Wk; (2) kl;Lk;  c. (2) kl;Lk; 
d. (2) kw;Wk; (3) kl;Lk;  e. tpil njhpatpy;iy 

 
90. Match the following : 

Amendment     Subject 
A. 53      1. Statehood for Goa 
B. 56      2. Statehood for Sikkim 
C. 55      3. Statehood for Mizoram 
D. 36      4. Statehood for Arunachal Pradesh 
Choose the correct option : 
 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 2 4 
e. Answer not known 
rhpahf nghUj;jp> tpilia Njh;e;njLf;fTk;. 
murikg;G jpUj;jy;rl;lk; vz;  $w;W 
A. 53      1. Nfhth khepy jFjpepiy 
B. 56      2. rpf;fpk; khepy jFjpepiy 
C. 55      3. kpN]huhk; khepy jFjpepiy 
D. 36      4. mUzhry gpuNjrk; khepy jFjpepiy 
 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

91. The Nature of “Socialist Principles” embodied in the constitution of India is based on 
the 
(1) Influence of socialist Ideas on state activity 
(2) Aims at establishing a Democratic socialist state 
(3) Collective socialist state pattern of Eastern Europe 
(4) Influence of Complete Marxism 
a. (1) and (3) only Correct     b. (3) and (2) only Correct  
c. (4) and (1) only Correct     d. (1) and (2) only Correct 

e. Answer not known 
,e;jpa murpayikg;gpy; nghjpe;Js;s “Nrhryprf; Nfhl;ghl;bd;” jd;ikahdJ> 
(1) muR eltbf;iffspy; Nrhryprf; fUj;Jf;fspd; jhf;fk; 
(2) kf;fshl;rpr; Nrhrypr muR epWTtij Nehf;fkhff; nfhz;lJ. 
(3) fpof;F INuhg;gpaf; $l;Lr; Nrhrypr Kiwiag; Nghd;wJ. 
(4) KOikahd khh;f;rpaj;jpd; jhf;fk; 
a. (1) kw;Wk; (3) Mfpad kl;Lk; rhp  b. (3) kw;Wk; (2) Mfpad kl;Lk; rhp 
c. (4) kw;Wk; (1) Mfpad kl;Lk; rhp  d. (1) kw;Wk; (2) Mfpad kl;Lk; rhp 
e. tpil njhpatpy;iy 
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92. The Preamble and the Directive Principles of state policy of the constitution of India 
comprises the Ideology of 
a. Egalitarianism   b. Utilitarianism  c. Liberalism 
d. Communism   e. Answer not known 
,e;jpa murikg;gpd; Kfg;Giu kw;Wk; muR topfhl;L newpKiwfs; cs;slf;fpa 
rpj;jhe;jkhdJ 
a. rkj;Jtthjk;   b. gad;ghl;Lthjk;  c. jhuhsthjk; 
d. nghJTlikthjk;  e. tpil njhpatpy;iy 

 
93. Which of the following come under the purview of Independent Judiciary? 

(i) Judges have Security of services and salaries 
(ii) The Judges are appointed by the president based on merit 
(iii) The salaries and allowances of the Judges are charged upon the consolidated 

fund of India. 
a. (i) only   b. (i) and (ii) only  c. (ii) and (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
gpd;tUtdtw;wpy; vJ/vit Rje;jpukhd ePjp Jiwapd; ghh;itf;F cl;gl;lJ? 
(i) ePjpgjpfs; ghJfhg;ghfg; gzpahw;Wjy; kw;Wk; Cjpak; ngWjy; 
(ii) ePjpgjpfs; FbauRj; jiytuhy; jFjpapd; mbg;gilapy; epakpf;fg;gLjy;  
(iii) ePjpgjpfSf;fhd Cjpak; kw;Wk; cjtp njhiffs; ,e;jpahtpd; njhFg;G 

epjpapypUe;J nfhLf;fg;gLjy;. 
a. (i) kl;Lk;    b. (i) kw;Wk; (ii) kl;Lk; c. (ii) kw;Wk; (iii) kl;Lk; 
d. (i), (ii) kw;Wk; (iii) Mfpait e. tpil njhpatpy;iy 

 
94. Regarding the changes of venue of the first session of the Indian National Congress 

from Poona to Bombay, which of the following statements is true. 
a. Poona was affected by the outbreak of Cholera 
b. Bombay has necessary funds 
c. Bombay a thickly populated region 
d. The British government suggested the venue 
e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; Kjy; khehL G+dhtpypUe;J gk;gha;f;F khw;wg;gl;lJ 
njhlh;ghf gpd;tUk; fhuzq;fspy; rhpahdJ vJ? 
a. G+dh fhyuh Nehapdhy; ghjpf;fg;gl;bUe;J 
b. gk;gha; Njitahd epjpAjtpaspj;jJ 
c. gk;gha;> kf;fs; njhif mjpfKs;s gFjpahf ,Ue;jJ 
d. gphpl;b~; murhq;fj;jpduhy;> mwpTWj;jg;gl;lJ 
e. tpil njhpatpy;iy 

 
95. Consider the following events : 

In 1885, Indian National Congress was established with the objectives  
(1) To promote Indian Nationalism 
(2) To establish a closer relation between Indian and England 
(3) To remove unjust and harmful laws. 
(4) To remove the discontent among the educated classes 
Which of the following is the correct chronological sequence of the above events? 
a. 1-2-3-4   b. 2-3-4-1   c. 3-1-2-4 
d. 4-3-1-2   e. Answer not known 
fPNo $wg;gl;Ls;stw;iw ftdpf;fTk;: 
1885k; Mz;L ,e;jpa Njrpa fhq;fpu]; rpy Fwpf;NfhSld; Vw;gLj;jg;gl;lJ. 
(1) ,e;jpa Njrpaj;ij gug;Gjy; 
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(2) ,e;jpahTf;Fk; ,q;fpyhe;jpw;Fk; ,ilNa neUq;fpd njhlh;ig Vw;gLj;jpf; nfhs;Sjy; 
(3) Neh;kiwahd> Jd;Gwj;jf;$ba rl;lj;ij ePf;Fjy; 
(4) fy;tp fw;w kf;fspilNa mjpUg;jpiaf; fisjy; 
fPNo $wg;gl;Ls;s epfo;Tfspd; fhy thpirapy; vit rhpahdit? 
a. 1-2-3-4   b. 2-3-4-1   c. 3-1-2-4 
d. 4-3-1-2   e. tpil njhpatpy;iy 

 
96. Choose the right matches among the following types : 

(1) Nana Sahib  - General Henry Havelock 
(2) Rani Lakshmi Bai - Sir Huge Rose 
(3) Tantia Tope  - General William 
(4) Kunwar Singh  - General Acton 
a. 1 and 3 are correct  b. 1 and 2 are correct c. 1 and 4 are correct 
d. 2 and 4 are correct  e. Answer not known 
gpd;tUtdtw;wpy; rhpahd nghUj;jj;ijj; Njh;e;njLf;fTk; : 
(1) ehdh rhfPg;  - n[duy; n`d;hp N`t;yhf; 
(2) uhzp yl;Rkpgha;  - rh; `Pf; Nuh]; 
(3) jhe;jpah Njhg;Ng  - n[duy; tpy;ypak; 
(4) Fd;th; rpq;  - n[duy; Mf;ld; 
a. 1 kw;Wk; 3 rhp  b. (1) kw;Wk; (2) rhp  c. 1 kw;Wk; 4 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 
97. The newspaper “Al Hilal” which propagated the rationalist and nationalist ideals was 

started in 1912 by 
a. M.A. Jinnah  b. Moulana Mohamed Ali  c. Sir Syed Ahmed Khan 
d. Moulana Abul Kalam Azad e. Answer not known 
gFj;jwpT kw;Wk; Njrpa rpe;jidfis gug;Giu nra;a 1912-k; Mz;L ‘my; `pyhy;’ 
gj;jphpf;ifia Muk;gpj;jth; 
a. M.A. [pd;dh     b. nksyhdh KfkJ myp 
c. rh; iraJ m`kJ fhd;   d. nksyhdh mGy; fyhk; Mrhj; 
e. tpil njhpatpy;iy 

 
98. Rast Goftar was an Anglo Gujarati newspaper operating in Bombay that was started in 

A.D. 1854 by Dadabhai Naorgoji. Rast Goftar Means: 
a. Truth Teller   b. Truth Seeker  c. The Factful 
d. Realistic Teller   e. Answer not known 
“uh];l; Nfhg;jhh;” vd;gJ gk;ghapy; ,aq;fpa Xh; Mq;fpNya – F[uhj;jp nra;jpj;jhs; 
,J jhjhgha; nesNuh[pahy; fp.gp. 1854 y; njhlq;fg;gl;lJ. “uh];l; Nfhg;jhh;” vd;gjd; 
nghUs; 
a. cz;ikiaf; $Wgth;  b. cz;ikia NjLgth; c. elg;G 
d. nka;k;ikiaf; $Wgth;  e. tpil njhpatpy;iy 

 
99. Who among the following descried Amravati session of the Indian National Congress 

held in 1897 as a ‘three days tamasha”? 
a. Surendranath Banerjee  b. Aurobindo Ghosh c. Ashwini Kumar Dutt 
d. Satis Mukherjee   e. Answer not known 
gpd;tUgth;fspy; vth; 1897y; ele;j ,e;jpa Njrpa fhq;fpu]pd; mkuhtjp $l;lj;ij 
“%d;W ehl;fs; jkh~h’ vd;W th;zid nra;jth;? 
a. RNue;jpuehj; ghdh;[p  b. mutpe;Njh Nfh~;  c. m];tpdpFkhh; jj; 
d. rjP~; Kfh;[p   e. tpil njhpatpy;iy 
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100. All – Bengal Civil Disobedience Council was formed by  
a. Surya sen   b. Premananda Dutta  c. Ambika Chakrabarty 
d. J.M. Sengupta  e. Answer not known 
midj;J tq;fhs rl;l kWg;G FOit cUthf;fpath; _____ Mthh;. 
a. #h;ah nrd;  b. gpNukde;jh jj;jh   c. mk;gpfh rf;ughh;j;jp 
d. [.Nkh. nrd;Fg;jh e. tpil njhpatpy;iy 


